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(1-5) : Read the following passage carefully and answer the questions given
below it.

Primitive man was probably more concerned with fire as a source of warmth
and as a means of cooking food than as a source of light. Before he discovered
less laborious ways of making fire, he had to preserve it, and whenever he went
on a journey he carried a firebrand with him. His discovery that the firebrand,
from which the torch may very well have developed, could be used for
illumination was probably incidental to the primary purpose of preserving a
flame.

Lamps, too, probably developed by accident. Early man may have had his
first conception of a lamp while watching a twig of fiber burning in the molten
fat dropped from a roasting carcass. All he had to do was to fashion a vessel to
contain fat and float a lighted reed in it. Such lamps, which were made of hollowed
stones or sea shells, have persisted in identical form up to quite recent times.

1. Primitive man's most important use for fire was .......
(1) toprovide warmth (2) tocook food
(3) to provide light (4) to provide warmth and cook:food

2. The firebrand was ﬁsed to,.. . B
(1) prevent accidents (2) provide light
(3) scare animals (4) save labour

3. By 'primary'the author means............
(1) primitive (2) fundamental
(3) elemental (4) essential

4. Lamps are probably developed through mere............
(1) hazard (2) fate
(3) chance (4) planning

5. Earlylamps were madeby ............
(1) using a reed as a'wick in the fat
(2) letting a reed soak the fat
(3) putting the fat in a shell and lighting it
(4) floating a reed in sea-shell "
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(6-10) : The blanks in the following passage are numbered 6 to 10. For each blank,
four possible options are given. Identify the correct one for each blank.

6
7
8.
9

10.

In 1893, Lokmanya Tilak converted the Ganpathi festival into public ceremony.

He campaigned ........(6)......... the........ ™....... circulation of this public celebration
through out Maharashtra. It was ...... (8)...... this festival that he could
.......... (9).........public .........(10)......... to the nationalist movement.

(1) towards (2) for 3) with (4) withstanding
(1) early (2) slow (3) wide (4) sudden

(1) through (2) from (3) before (4) indeed

(1) advise (2) control (3) mobilize (4) demand

(1) places (2) support (3) festivals (4) grievances

(11-15) : Read the sentences that are numbered at the beginning of each sentence
in the following passage. Each sentence has an error. Identify the wrong word/phrase
and its correct one given together as one of the options.

11.

12.

13.

14.

15.

(11) The students in my class would hand in an assignment on Friday. (12)
Madhu goes all out to get a good mark. Renu usually just goes in the motions of
writing an essay, but this time he's really pulled his finger out and is going out
of his way to write something good. (13) He says if he wants to get an 'A' by hook
or by crook. (14) Paul says he found the assignment as easy as to take candy
from a baby. (15) Vani says that, however she had a good go at it, she found it
quite heavy-going.

(1) in—of (2) would —have to

(3) hand in — hand on (40 on-—in

(1) goes —is going (2) all out—all the way

(3) to get — getting (4) mark-marks

(1) if-that (2) wants—wanted

(3) an'A'—the'A’ (4) or-—and

(1) found-finds (2) aseasy as—easier than
(3) totake — taking (4) a baby — the baby

(1) however — although (2) had - has

(3) atit—withit (4) quite — very
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'Has the shirt been washed?'

The above sentence can also be expressed as ...........
(1) Was it washed by somebody?

(2) Has somebody washed it?

(3) Was the shirt being washed?

(4) Did somebody wash the shirt?

'Which flowers do you want? .............. ¥ o

Complete the expression by choosing the correct option.
(1) This one or that one

(2) This or that

(3) These or those

(4) These ones or those ones

(A) Do you want to go out?
(B) Are you tired?

The sentences (A) and (B) can be combined into a single sentence using the

conjunction ..............
(1) and (2) but
(3) because (4) or

This pen is ok but I think the other one is...........
Complete the sentence by choosing the right option.
(1) nice (2) nicer

(3) more nice (4) nicest
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20. It's raining and Padma is going out.
She hasn't got an umbrella but you have one. Then you say .............
(1) Would you like to0 borrow my umbrella?
(2) Do you like my umbrella?
(3) Would you liked my umbrella?
(4) You want to borrow my umbrella?

21. 'Why did your brother write such a letter?'
The passive form of the above sentenceis............
(1) Why was such a letter written by your brother?
(2) Why did such a letter written by your brother?
(3) Why have such a letter written by your brother?
(4) Why is such a letter written by your brother?

22. 1 wish you would not chatter so much.
In the above sentence, 'would' expresses .............
(1) arequest (2) past obligation
(3) astrong desire (4) probability

23. The 'courteous leave-taking' in letter writing is called ................
(1) salutation (2) greeting

(3) subscription (4) superscription

24. "l hear lake water lapping with low sounds by the shore".
Identify the figure of speech used in the above poetic lines.
(1) Simile (2) Alliteration
(3) Onomatopoeia (4) Metai)hor

25. Identify the right order of the punctuation marks which represent 'pause' from
the greatest pause to the shortest pause.
(1) Full stop, colon, semicolon, comma
(2) Full stop, comma, semicolon, colon
(3) Comma, semicolon, colon, full stop

(4) Semicolon, colon, comma, full stop
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217.

28.

29.

30.
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"Ramesh doesn't like sweets".

Identify the correct 'addition' to the above remark s ..........
(1) Sodol (2) Somustl

(3) Nordol (4) NeitherdidI
Seeyou............. week

Choose the correct option to fill in the blank.
(1) on next (2) next
(3) in next (4) atnext

Read the following sentences.
(A) Do you like horses?
(B) Do you like a horse?

Which sentence is correct?

(1) Both (A) and (B) are correct.
(2) Neither (A) nor (B) is correct.
(3) Only (A) is correct.

(4) Only (B) is correct.

The boy who was missing is safe now.

Identify the correct newspaper headline for the above news.
(1) BOY FINDS SAFE

(2) BOY FOUND SAFE

(3) BOY IS FOUND SAFELY

(4) BOY WAS FOUND SAFELY

A : May I borrow the car?

Identify the correct response of B. (Grammatically)
(1) No, I'm afraid you may not.

(2) No, of course you may not.

(3) Yes, I'm afraid you may.

(4) Yes, of course you will.

[6]
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34.

35.

36.

37.
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[ am /thinking [to change/ my job.
A)y (B (©) (D)
The above sentence is divided into four parts (A), (B), (C) and (D).

Identify the part of the sentence which has an error.

(1) (A) (2 (B

3) (C) 4 @O
She............. in a car crash.

Identify the correct option to fill in the blank.

(1) dead (2) isdead
(3) 1sdied (4) died

Identify the grammatically correct sentence.
(1) Suddenly the door opened itself.

(2) Ifeel myself strange.

(3) She's old enough to dress herself now.
(4) Try to concentrate yourself.

Identify the discourse marker that is used for giving examples.
(1) onthe whole (2) moreover
(3) forinstance (4) consequently

The parts of the sentence (A), (B), (C), (D), (E), (F) and (G) are jumbled. Identify
the right order to get a meaningful sentence.

a / life / older/of / Getting / fact [is

@A) B/ ©fD) ® (&)

(1) (B), (G), (E), (C), (D), (A), (F) 2 (E),(C), (G), (A), (F), (D), (B)

@) (E), (G), (C), (A), (F),(G), (A),(B) (4) (B),(B),(C),(G), (A), (F), (D)
Afriend of yours is very upset that he has scratched his new car. You could say;
"Don't make such a fuss. ..................

Choose the proverb that you would use in this situation.
(1) Actions speak louder than words. (2) Many hands make light work

(3) Blood is thicker than water (4) It's no good crying over spilt milk
Identify the wrongly spelt word.

(1) noticeable (2) changiable

(3) readable (4) peaceable
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41.

42.

43.
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Read the following complex sentence.

'How long I shall stay is doubtful'.

Identify its simple form.

(1) The duration of my stay is doubtful.

(2) Idonot know how shall I stay.

(3) Itis doubtful to me how long I shall stay.
(4) I am doubtful when I shall leave.

You should complete your B.Ed. ............

Your B.Sc. to get a teacher job.

Choose the right option to fill in the blank.

(1) according to (2) in addition to

(3) inspite of (4) 1inaccordance with

The little boy strode imperiously up and down.

The underlined word means..............

(1) politely (2) humbly

(3) proudly (4) respectfully

There are six sentences marked S, Sy, P, Q, R and S. The positions of S, and S
are fixed. Identify the right order of P, Q, R and S to make a meaningful
paragraph.

S, : Hetried the door.

P The room was neat and clean.

Q Then he stepped into the room.

R He waited for a minute or two.

S It opened easily and he peeped in.

Sg : He was careful not to touch anything.

(1) PQRS (2) QSPR
(3) RPQS (4) SPRQ
A .. BN thief was caught by the police last night.
Choose the correct word to fill in the blank.

(1) famous (2) popular
(3) renowned (4) notorious

He said, "Get out", to his peon.

It can also be written as ......

(1) He asked his peon to get him out. (2) He told his peon that he get out.
(3) He commanded his peon to getout. (4) He requested his peon to get out.
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Read the sentences (A), (B), (C) and (D).
Identify the sentence in which 'better' is as an adverb.
(A) Ithink yours is a better plan.
(B) 1know better.
(C) Give place to your betters.
(D) The boxes with which he provided me bettered the sample.
(1) (A) (2) (B)
3) (©) 4 @O
There is a mosque in that street, ............7
Identify the correct question tag to complete the sentence.
(1) 1isn't there (2) isn'tit
(3) aren't they (4) hasn'tit
As he was not there, I spoke to his brother.
The above sentence contains an adverb clauseof .........
(1) purpose (2) condition
(3) cause (4) place
Children love making mud castles.
In the above sentence, the gerund is ..........
(1) the subject of the verb. (2) the object of the preposition.
(3) the complement of the verb (4) the object of the transitive verb
An apology letter begins with ..........
(1) Iam glad (2) Iam really sorry
(3) I am pleased (4) I wish toinform you
The three brothers shared the property .............. themselves while two others
fought ............. themselves for the property.
Choose the right option to fill in the blanks.
(1) between, among (2) among, between
(3) in between, among (4) within, between

Identify the pait of words in which the letter, 'c' is pronounced the same.
(1) Cease. — homicide (2) Face —brochure
(3) Ace — ache (4) ' Peace — preach
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The value of 'K’ for which 2x* + 3x% + 2K x® + 3x + 6 is exactly divisible
b}' X2 2
2x% +3x3 - 2K 2% + 3x + 6 % x+2 o gpAn 'K Jusd?

(1) 1 2 -1
3 2 4) -2
1
If a, p are zeros of the polynomial gx? + bx + ¢, then the value of = & E
L —— -
a, f ax’ + bx + ¢ a:‘b\:‘é&cﬁm&fbwswwé;*‘ﬁ‘ WS eeereree
-b
(1) P (2) b=ac

-b b
@ — ) ‘\EZ

If x + 1. x + 2 are two factors of x3 + 3x - 2ax + B, then values of a + f8

x+1, x+2ex3 4 327 - 2ax + f Do, Coto TeFoTw BB @ + f = ...
(1 -1 2 1
@) -2 (4) 2

In the given figure AC pass through center of the circle, then the area of the

shaded region in the given figureis..............

2 x2 T
() 2x* (7 -1) (4) —2—[5—1]




56.

57.

58.

Q. Booklet A

Code

The area of a circle is 220 cm?. Then the area of square inscribed initis ...........

590 PO 220 9.750.00, s otod” eoBPol LA T wree
(1) 49 cm? (2) 70cm?
(3) 140 cm? (4) 150 cm?

A vessel is 1n the form of a hollow hemisphere mounted by hollow cylinder. The
diameter of the hemisphere is 14 cm and the total height of the vessel is 13 cm,

then the inner surface area of the vessel is .........

(1) 308 cm® (2) 572cm?

(3) 672 cm? (4) 472 cm?

e D 2.5 103 oBRTRs B 108 S $'0o0 &ob. eti’dun oo, wrgse 14 0.0
OB OB 13 1002 e PP Bk, 0B EB0 BE DTTO wererrerenes

(1) 308 B.20.00. (2) 572 B.2o.0.

(3) 672 v.o.io. (4) 472 v.>x0.00.

The radii of the base of cylinder and a cone are in the ratio of 3 : 4 and their

height are in the rauio of 2 : 3, then the ratio of the volumesis ............

€5 BTSN, FosY) Gy, TErTres IHE 3 1 4 e AT 2 3 waxt S JRBlirere

i~ R
(1) 9:8 (2 9:4
(3) 3:1 (4) 27:64

A circus tent is cylindrical up to a height of 4 m and cone above it. If the diameter
is 105 m and its slant height of cone 1s 40 m., then the total area of canvas

required to built thetentis ..............

£X330,5 So 4 2. 28 e s 2 105 2o, TPgdoe, 40 . Desares 263 3RS dopo tmised

9B &+ BolS HAUre eistic el TR GO, DTS crrersessesens
(1) 7920 m* (2) 7820 m?
(3) 9720 m? (4) 2645 m?
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What will be the value of x if 8x + 4. 6x — 2and 2x - 7 are in arithmetic

progression?

8x +4, 6x — 2 5000Ks 2x + 7 o6 POD X DLSH e :
-15 15

1 — @

(3) 15 (4) -15

The n*® term of an arithmetic progression is —11 while sum of the first n terms is

66, when its first term is 22 then the valueof nis...............

X esoNRG Dot 8850 22 n B Bie —11, st n BTEe ABC 66 IS N VSIS wwererrenes
(1) 12 (2) 13
(3) 14 4 15

If the first and fifth term's sum is 10, then the third term of an arithmetic

progression is.............

L5 o¥REG Gleoly, Tasted, et 3The 2ado 10 ecasd & B @ool, DA 850 et
(1) 3 @2 1

3) 5 4 2

If the 10" term of the sequence /3. 12. 27 ....... is \/3n2 , then the value of

n.,
a 18 i

2

J3, 12, ... BAE 105 350 /352 DO = DD errerrenn
(1) 3 2 3

@3) 5 @ 5

If px2 +gx + r =0 has equal roots, thenr=...........

px% 4 gx + 7 = 0 % Sarores S0 eoxsd, r= ...

2
9 g
(1) 2p @ 3 P
2 2
e’ aq
3) ap (4) i
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The sum of squares of the roots of x*> +8x ~15 =0 1S vvurvevr.n...

2 +8x + 15 = 0 HFSRBEs FCQ BT DO wevvvsssees
(1) 30 2 34

(3) 40 (4) 44

The value of Jz " Jz +f2+ .. 18 e

Jg + \/2 + ,/2 4., O30, DESD aereeeecerens

1 3 (2 4

3 2 (499 8

The roots of (b - ¢)x? +(c —a)x +(a - b) = 0 are equal and kb =a + c, then
the valueofkis............

(1) 1 2 2
3) 3 4) 4

Two isosceles triangles have equal angles and their areas are in the ratio of

16 : 25, then the ratio of their corresponding height is ..............
Bt SHoBEr (@gn Seres SEIM0 SO0 T3 PPeN® D0 16 1 25 eansid TwS e

(1) 4:5 (2) 5:4
3) 3:2 4 1:4

In AABC, AD is bisector of |4 if BD=5cm, BC=75cm, then
TN

AABC & A_D,Esnm]ﬁd\nﬁbgnw&‘sa:omé@m BD=5cm, BC=75cm
e AB : AC =..............

() 2:1 2 1:2

(3) 4:5 4 3:5
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A ABC ~ A DEF and perimeters of AABC and A DEF are 30 cm and 18 cm
respectively. If BC=9cm, then EF= ...

AABC ~ A DEF m&mmdm SPodes oo 30 cm, 18 cm wasd BC=9cm,

(1) 6.3cm (2) 5.4cm (3 7.2cm (4) 4.5¢cm
AB

In the »n fi 2 if — = =

n the given figure i < Lt’) ,then |ABD =

AB BD ;
(% 0:».; = savo |ARB i e
= AC CD

(1) 50° (2) 40" 3) 30° (4) 70°

ABC s a right triangle and right angled at C. If p is the length of perpendicular
from CtoABwithAB=¢, BC=a,AC=b,then..........

ABC w5 oow Ser (Ggoeto C oo S0 58A 9oB. C ol AB 3 A% oo ey

pead AB=c, BC=a, AC = b 00095 ceeeeereenes
1 1 B l_ 1 1 i
D 275 o2 (2) 2 @ B
111 11,1
@) z° PR (4) 2o a b
If Sin a, Cos a are roots of the equation ax* + bx + ¢ =0, then........
Sin a, Cos @ @ ax” + bx + ¢ = 0 Gk, WPCES BUBD cevrereresens
(1) a®+b%>-2ac=0 (2) (t'1+c)3=b2+c2
3 a*-b%+2ac=0 @) (a+c) =b2-¢?
2xy .
If x > yand ——5 = Cos0, then Sinf =.............
x° +y
2xy 5
X >y e, —5 = C0s 0 e Sin@ = .............
x° +
1 x2 - 2 ; x? 4 y? R e ¥ 2xy
W = ¥ @) Z_ 2 3) 2xy @ ez ¥
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Cos 0 " Sin6
1-Tand® 1-Cot @ -~
(1) Cosf - Sin 6 (2) Tan @ - Cot 0
(3) Cos 0@ - Sin 0 (4) Tan 0+ Cot 0
1+ Sin@)(1 - Sin0
If Tan 0 = z then the value of ( s )( sk ) — T
8 (1+ Cos8) (1 - Cos8)
1+Sin@)(1 - Sin@
Tanﬂzzm( ke )( m );'J- ..........
8 (1 + Cos@) (1 - Cos8)
) 8 ) 9 5 B »7
If Cosec® + Cot® = P .thenvalueof Cos@ =............
CosecO + Cot 0 = P ecss CosO =............
1- P2 o 1- PP 2P 2P
V) Tp2 @ ® T @ @

The angle of elevation of top of a tower at a distance of 500 m from the foot is

30° Then the height of the toweris .............

2% 03356 Do wsed 500 2. Erved’ & Dot Seed 1l QA 5% & Sreo 30° & wry

500 3
m I @ 508 O @ 2

If altitude of the sun is 60°. Then the height of the tower which is casting a

shadowof 30 m. is ............

PR G0 60° Pipsietsd 1.5 68 30 m e Ne DS D08 90250 1358 DY evesrsreess
(R0 o5%)
(1) 61.69 (2) 51.69 (3) 51.96 (4) 41.69
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The probability that year 2016 to have 53 Mondays.

2016 5o5TxsE" 53 ST G BOGPHD vvrrrnen
) - 9 2 3 2 gy 2
W = @ > @ @

The probability of getting score greater than 9 slove added together on faces of

two dice rolled at one time.
23300 Botss SO¥es Wi esPPOY trled Sl o Tasde 9 ¥l X0 e g S,

13 7

)y -

1
(2) - (3) 36

@ 6 36

oo

A bag contains cards numbers from 11 to 30. A card is taken out the bag at
random. The probability that the drawn card is a multiple of 5 on it.

w8 rgol® 11 0 30 DU esSes T THtizes 5o cRDySem S5 L8 T D § Gu,
1ordere ol PO weererrseres

P
~
£

|

@) g (3

TN

(1)

When three fair coins are tossed simultancously, the probability that at least

one head appears.

£330 3 I35 Temes Moo DY ¥iso 1 G55 5 oI,

7
(1) (2) (3) @ g

x|,

2 i
8 2

A bag contains 6 red, 3 black and 6 white balls. A ball is selected at random

fromn the bag, what is the probability that the selected ball is not red?

WY PRE" 6 SEp 310D, 6 Doy Tolh 1otes Su RN e X ueddY 6l MY wod

3 1= (4)

Ut
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If K, < P < K, where Pis probability of any event of random experiment, then
the possible maximum K, + possible least valueof K, is ..........

(1) 1 (2) 0

(3) 2 (4) cannot be determined

K, <P <K, ¢obr P «lodl 5 dlrgns BRFNE® &5 $ed DY, Do oD

K, X085 2e8 + K,y MCRISSS civveeeceresanene
(1) 1 2 0 3 2 (4) JzOoie

The end points of diameter of a circle are (2, 4) and (- 3, — 1). The radius of the

circle 1S ............

LEHOTE S (2, 4), (-3, - 1) saxsd &a;’%\i}?g??f.m ................
2
The ratio in which X-axis divides the line segment joining the points (5, 4) and

2 52 (3) 32 (4)

(1)

(5, 4), (5, — 3) o0 505 Tgrpotsanins X-eo 0800 gD wereeeeee
(1) 5:2 2 3:4 3 2:5 4 4:3

AOBC is a rectangle with A = (0, 3), O (0, 0) and B (5, 0), then the length of its
diagonalsis..............

AOBC w5 &gsastse gres A= (0, 3), 0 (0, 0) 50ai B (5, 0) eoosid Sie G, &Y
(1) 5 (2) 3 (3) 34 (4) 4

The points (— 4, 0), (4, 0), (0, 3) are vertices of .........

(1) right angled triangle (2) isosceles triangle
(3) equilateral triangle (4) scalene triangle
(— 4, 0), (4, 0), (0, 3) DoLEPL VATD SGLOS ceveeeerasess

(1) wowSe Ggomieo Q) Saberi (G
(3) oo (Sgbeha (4) Do v St
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In the quadrilateral DEFG a circle is inscribed

touching quadrilateral at R, S, P, Q. ES=5 cm, P7Cm £~
PF=T7cm, @G=5cm, DR=4 cm, then perimeter Stm

of the quadrilateral s ........... Q

85 Swed® ¥ vastymo DEFG & w¥ o 5¢cm
wottdorealod 50 Wikiyeiy R, S, P, Qostiniiges. D 4CmM R E
ES=5cm, PF=7Tcm, QG=5cm DR = 4 cm

O DBcnmo G, WSED wevereeseens

(1) 40 cm (2) 21em (3) 42cm (4) 20cm

TP and TQ are two tangents to a circle with center Q. So that |POQ =130°,
then |PTO =.....
TP 58k TQ o O oo Ke %0 % Soks dpee POQ =130° woxd

(1) 65° (2) 25° (3) 35° (4) 45°

In the adjacent figure AT'is a tangent to a circle
with center O. If OT = 4 ¢m, |OTA = 30°,

AT=........ (incm). 0 T

85, 9008 O Soom K BHuans AT 95ty

OT=4cm, |OTA = 30° e AT =...... (2c.Lo.08%) A

(1) 3.464 (2) 0.8 (3) 4.464 (4) 1.8

In the adjacent figure 'O' is the center of a circle. T

PTis a tangent to the circle, then the radius of g n

acircleis ............ o
"y 8 0 C 3Cm

8%, 50508 0' Sogem fie 5HEras PT ¥ 5y589 eoass

DB TS evrvrennes

(1) 3cem (2) 6cm 3) 12cm (4) 4.5¢cm

(18]



93.

94.

95.

Q. Booklet

Code

Constructing of a cumulative frequency table is useful in finding ...........
(1) median (2) mean

(3) mode (4) mean, median, mode

000 TEpRe Bod TPAE" DB KR%ioes’ GSEPAGIL crrrreeseres

(1) Doggiess (2)  Solgasaos

(3) riedEaD (4)  SofIiEEas, SGEssi, TrTRedEi

The absissa of the point of inter section of less than type and more than type

ogive curves gives

(1) median

(3) mode

esE5m, bR SolG ity L PoESDOEIY Gk, X JETBE ZEna.

(1) saggse

(3) ouvosae

(2) mean

(4) standard deviation
Q) SoggaEn

(4)  [sodvese

The mode of data 3, 3,4,5,3,5,6,3,7,9,11, 7
2 7

1) 3

3or7

3)

3,3,4,5,3,5,6,3,7,9, 11, 7 Gooy, cFmossio

(4) does not exist

(1) 3 2 7 3) 387 (4) *.isz’agiao =S
96. | Marks Below 10 Below 20 Below 30 | Below 40| Below 50
Number 8 17 32 62 80
of students
In the above distribution the model class is .......
Te (308 535 GBook, LRI BID
By e 10 503 5335 | 20 303 sx35 | 30 308 835 [40 503 883 | 50 %3 sxys
dise Sews 8 17 32 62 80
(1) 10-20 (2) 20-30 (3) 30-40 (4) 40-50
Y-1 [19] Turn Over




97.

98.

99.

100.

Q. Booklet A

Code

The value of P for which the pair of equation 2Px + 3y =7 2x+ y=6
has exactly one solution.

(1) 3

(2) Any real number except 3

(3) Any real number

(4) For no real P the system has solution

2Px + 3y =7, 2x + y = 6 $ASrateks XNBor L3305 domesd.
(1) 3

(2) 339 2T Sopg wosm Pwony

(3) T Sogpg woss P Desd iy

(4) Sowss Sopg B P sdrde 3o

If x2 + y? = 123xy and 2 Log (x + y] =k, Logl + Logx + Log y where %k and
l are real, then the value of k + lis ...........

x® + y? =123xy 98ai» 2Log (x + ¥) =k, Logl + Logx + Log y ecassss k, |
TS wasd k+1dess ..........

(1) 8 (2 3 3 5 4) 2

Which one of the following rational numbers have nonterminating repeating

decimal expansion?

D 3135 @ 305 @) 300 (4) None of these

80D TS D0 oo T PirBo Bl BTE Piysas OS2

71 23

(2) 312 (3) 200

S oy ey at o

If A c B, then which one of the following is false?
A c B e 308 76508 eistgins?
(1) A-B=A 2 B-A#z¢ (3) AUB=B (4) ANB-=-4

[20]




101.

102.

103.

104.

105.

PART - III
Q. Booklet A

PHYSICAL SCIENCE Code
The amount of heat required to raise the temperature of 1 gm of water to 1°C
18 corerrreenrens (in joules)
1 ro 53 &2Birsias 1°C B oBERS edstiss ek THes’ ..
(1) 4.186 (2) 4.286
(3) 4.108 (4) 4.208
The substance that is having least specific heat from the following.
(1) Zinc (2) Mercury
(3) Water (4) Kerosene
308 TE° esitigen Do Mo ST,
(1) =c§ (2) Smestse
(3) X (4) 3%S

The heat energy required to raise the temperature of 20 kg of water from 25°C
t075°Cis........... (in calorie)

20 &.qr. © M3 &30 25°C wood 75°C 5 DoBEPIS SR Si583 360CE’ oannennenn.

(1) 10° 2 10*
(3) 10° (4) 108
The vitamins that help in preventing the spoiling of food.
(1) Vitamin C and Vitamin E (2) Vitamin A and Vitamin C
(3) Vitamin A and Vitamin E (4) Vitamin A and Vitamin K
esi580 K DegHotreos) Mo IO JulsSen.
(1) eSS C sodain Dedod E (2) DS A 9380k deded C
(3) Desdod A S8ak dwaed E (4) Do A ssdom delsS K
The C. G. S. unit of heat from the following is ............
(1) Joule (2) Calorie
(3) Kelvin (4) Celsius
800 & dite Ay, C. G. S. BEPE0 cervrersneenes
1) &6 2 8%
(3) 35 (4) HOELH
(21] Turn Over



Q. Booklet A

Code

106. Cao + H,O — Ca(OH ), + Q (heat energy)

107,

108.

109.

The above chemical reaction is an exampleof ..............
(1) chemical combination (2) chemical displacement

(3) chemical decomposition (4) double decomposition
Cao + H,0 — Ca(OH )2 + @ (heat energy)

B EFOW0 00 B3 ETFTULS weencrneraas
(1) B30 Sedirne (2)  Erawd Figicso
(3) B DA (4) ok dRBrNe

XAI+Fe203 —— AL O, +Y Fe

To balance the above equation the values of X and Y respectively are ...........

2 SBT3 10 Boeiso DALEIL PemBys X 8ok ¥ desses S . ...
(1 1,2 2 22
3 2,1 4 2,3

The substance formed when magnesium burns in airis ............

(1) blue coloured magnesium oxide (2) red coloured magnesium oxide

(3) white coloured magnesium oxide (4) green coloured magnesium oxide

Dofighipion TOE® Bo0EIHED DS SIFGED corsrrrerrees
(1) DBl wlghaiie e3E (2) St Boro Rofipioe e53,E
(3) Bed wshhowo eRE (4)  esH) ihawo 3.8

The enzyme that is responsible to change the colour on the cut surface of the
fruits like Apple, Bananais..............

(1) Zymase (2) Tyrosinase

(3) Invertase (4) Lactase

ArDE, etied erodd ot s, 5% 6330800 ol SAERHS TR =X
(1) =& (2 oRE

() ZgE 4 o3&

[22]



110.

111.

112.

113.

Y-2

Q. Booklet A

Code
The principle that tells that "light selects the path which takes least time to
travel"is............
(1) Fermat's principle (2) Huygens principle
(3) Peter principle (4) Fresnel principle
TS Jginls BArRTe S5 S POt LT Sit0essetsd By SO s
(1) 3ol ampe @) RS e
(3) desbissipe (4) Pfarpe

If the focal length of a mirror is 20 cm, then its radius of curvature (incm)is.....

& S5es0 TgieBte 20 0.80.00 wax T SET T 0.0, u.veceeen

(1) 20 (2) 30

(3) 40 (40 50

If an object is placed at a distance of 10 cm from a convex mirror of focal length
15 cm, then the nature of the image is...............

(1) real and inverted (2) real and erect

(3) virtual and inverted (4) virtual and erect

15 T80, T0850 Ke S0grs S50 S0t 10 20,85, Sntes’ SHR0 SoDD Dyt
PSDow BFETLO vaens

(1) BodosssJe $20owo (2) DTS e (SDowe
(3) Beo(Botogs 7% SOhowe (4) QTR Qs (S0
To get the inverted image having same size of object with concave mirror, the

object should be placed at ............

(1) focal point

(2) center of curvature

(3) between focal point and center of curvature
(4) beyond center of curvature

RIS S0 Dt SRESORPETOS 1S5S S0 SOA, Bo3otodn BSDowo MHEC s

SRR OO JC severrezivenn
(1) >how Doty = @) sEo o
(3) T, S¥or To ki wy (4) SETe oo eve
[23] Turn Over



114.

115.

116.

117.

118.

Y-2

Q. Booklet A

Code
Olfactory indicator from the following is ...............
(1) turmeric (2) onion
(3) methyl orange (4) litmus paper
308 TS ST B cerereeeenn.
(1) S35 (2) &
(3) b ested (4) B S
Tooth decay starts when the pH value of the mouth is ............
ScBEebe Pregianssips Fuod® pH 2855 e
(1) 5.4 2 56
(3) 5.7 (4) 58
The formula for Gypsumis............
£ G0k, PERD® cerveneresensnns
(1) CaSO, 2H,0 (2) CaSO, 3H,0
3 CaOCl, @ CaSO, ~H,0
Pair of strong acid and strong base from the following s ...........
300 6" e 5530, LU UV HB wwrerreennns
(1) HCl, NH,OH (2 CH,COOH, NH,OH
(3) CH;COOH, NaOH (4) HCIl, NaOH
If the refractive index of glass is % , then the velocity of light in glass (in m/sec)
Tz Dot SRS orsan g e0aasd rers’ 300 Mo 5./, €8 anererrerene.
(1) 3x10® (2 2x10®
(3 4x108 4 25x108

[24] )



119.

120.

121.

122,

Y-2

Q. Booklet A

Code

Which is NOT an application of total internal reflection from the following?
(1) Optical fibre (2) Mirage
(3) Sparkling of diamond (4)  Blue colour of sky

300 TG 330t ST e T06.

(1) w558 ek, (2) DetssrEpes
(3) Lo @BsvEo (4) &5 Quy, Hdter

When light enters from air to a medium 'X, its speed becomes 2 x 108 ms~!, then

refractive index of the medium 'X'is ......... (Speed of light in air = 3 x 10® ms)

(1) 2 2 3
3 1.5 4) 1

Identify the lens maker's formula from the following.

(800 TRE* %035 B SPEYy KHGOBOE ceenn...nn,
1 1) 1 1
1 f=(n—1["———- 2 f=(n+1)[-—-—-J
® & &) @ R R
1 1 1) 1 1 1
phuaid) @ hefid]
@ 7 R R’ @ 7= R R
If the image distance of a convex lens of focal length 25 c¢m is 75 cm, then the

object distance (inem)is............

25 0.0, TEROBIRG, BT Sl 5o Didss BSDow B0 75 Bo.2o. e eaasd
SREFTED 280,088 e,

(1) -37.5 (2) 37.5

(3) 50 4 -50

[25] Turn Over




123.

124.

125.

126.

127.

Y-2

Q. Booklet A

Code

When a convex lens is placed in water, its focal lengthis..........

(1) decreased (2) becomes zero
(3) doesn't change (4) increased
OGS 55 36" SoDiSE TR TEUOBES <uvesnnnns

(1) itk (2) amsghoros

(3) woeeso (4) oK

The minimum focal length of eye lens for the person of hypermetrog. a is greater
than.............

i He B Ko Kok K8 TN AR JED e
(1) 2.27cm (2) 2.5cm
3 2.5m 4) 2.27m

The reason for low angle of deviation for red colour in dispersion of light is due

toits..............

(1) low refractive index (2)  high refractive index

(3) low wavelength (4) frequency

T8 JESr06” Mol Deito BN HOLEEIE SHEmo, DBy B G}, evenen
(1) 385 roraso s (@) 58S orsso deoys

(3) Bonptio By (4) Fsugine

The distance between eye lens and retina is nearly equal to ..........

5036 508, et ot BPS TTY wevennneneeee.

(1) 2cm (2 2.5cm

(3) 3em (4) 3.5cm

eSTHEY) MOUOILED SRS TPTFSEESE™ VDD e,

(1) H,0 (2 N,, H,0

(3) Ozn H2 (4) N‘h 02
[26]



128.

129.

130.

131.

132.

Y-2

Q. Booklet A

Code

Choose the correct increasing order of substances arranged based on their

refractive index.

"Water, ice, kerosene"

(1) ice > water > kerosene (2) ice>kerosene > water
(3) water > ice > kerosene (4) water > kerosene > ice
300 STrPERy HIEESS e SOOI 000 OIS estiives 508 ...
D, oo, 3605

(1) oo > D > 3605 (2) woowo> 3525 > Huws

(3) S& > doows > 38M,5 (4) o> 3855 > e

The valency of an element which belongs to 3™ period and 2™ group of the
periodictableis.............

OArEE 3356° e HOARE, Bowss 17 1 Todi surets BT, IBy sevseecnsranans
(1) 2 2 3
3) 4 (4 5

The orbital that is having least energy among 3p, 4s, 3d, 4p is ............

3p, 4s, 3d, 4p esOrE,) & weysd Ke e38P6 ...
(1) 3p (2) 4s
(3) 3d (4) 4p

If the angular momentum quantum number [ is equal to '3' then maximum

number of electron that can be accommodated in all orbitalsis ...........

Srian (ES55H S%50030 0w ‘3" €0 T M@WW&QJB@S@M ............
(1) 6 (2 14
(3) 10 4 2

If an element has 3 electrons in the M shell, then the elementis ...........

&8 Daroso qholy; M 55006 '3" dopSen Pieand, €5 SaT0Es wuennnnn.nnnnnn.
(1) Mg 2) Al
3 Si (4 Na

[27] Turn Over



133.

134.

135.

136.

137.

Y-2

Q. Booklet A

Code

The electronic configuration of chromiumis...........

300 T08° §oato Y, JOPE JTF0 e

(1) [Ar] 4s%3d* (2) [Ar)4s?3dP

(3) [Ar]4s'3d® (4) [Ar]4s'3d5

The set of elements that is NOT a Dobereineri triad from the following.
300 TRE° sl (DNE T SoFeS'O BB curerereene

(1) Ca, Sr, Ba (2 Cl Br1

(3) Mn, Cr, Fe 4 S Si, Te

If the elements A, B, C, D have the following electronic configuration, then the
elements that belongs to the same group of periodic tableis...............

A-2,3 B-2,83 C-285 D-28,7
A, B, C, D &3 soreses Bos 5009 Jogd dgso 0Aged, boaural 3386° o8 pohn
DO JOTDVTUES veeesseecereranes

(1) A B 2 BC
3 CD 4 DA

The biggest and the smallest atoms from the following respectively are ......

30D TRE® DY BTEPEAY, DYy SRPLAINDOS ST vereresrnersrnes
C, S, NP

(1) N,Si 2 Si, N

3) CN (40 N, P

For the formation of ionic bond the electronegativity difference between atoms

of two elements should be............
(1) greater than or equal to 1.9 (2) lessthan orequal to 0.9
(3) equaltol.5 (4) equaltol

Colls BareTielh TOBD ST SO £0fio8” SETeos Tl sy 1 DTN

(1) 1.9 535750 B 5,0 ™ PHosd 2) O.Qmméﬁ‘_wbﬁwéama
(3) 1.5 X BEroe v Hord (4) 1% oo

[28]



138.

139.

140.

141.

142,

Y-2

Q. Booklet A

Code
The scientists proposed VSEPRT theory are .............
(1) Sidgwick and Powell (2) Gillespie and Nyholm
(3) Davy and Powell (4) Davy and Nyholm
VSEPRT oo SO3000S TEIE0 cerverenenss
(1) »EDE wedao Fob (2) ARy Bodctx RIS
(3) &2 oodoss Fab (4) D Sodain PR

The molecule having 104° 31’ as bond angle is ............

104%.31' = uoc;ﬁim T KO L) secsscsseesacnses
(1) CH, (2 H,O0
(3 NH, @ G,H,

An element 'A' forms a chloride AC! o the number of electrons in the valence

shell of 'A'is .........

A’ &3 Sareso AC, 0 D5iscs, 'A' G008y, By IOFHRIO 0Py wurennerrssssen
(11 2 2
@) 3 4 4

SORID G, BRSSP0 wevesaceenerenes
(1) 3420°C (2) 3422°C
(3) 2420°C (4) 2422°C

To detect leakage of gas from the cylinder the substance added to the gasis.......

T 280tb 200 M TR0 KoQoERS TGS X5 50D SO weerusecssencene
(1) C,H, SH @ C,H; OH
(3) CH,COOH 4) CH,CHO
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Code

143. If CH, - CH, - CH, —- COOH is the IUPAC structure of a hydrocarbon, then
that hydrocarbonis.................

(1) Butane (2) Butanol

(3) Butanoic acid (4) But-l-ene

2% 2856, IUPAC dovyese CHy— CH, - CH, — COOH ©0355 & 20855 coveane.

(1) arg@S (2) wresrd

(3) wrprafeno (4) wres-1-5
144. The name of functional group- C=0is..........

(1) Aldehyde (2) Ketone

(3) Esters (4) Ethers

SR000 390%7%0 — C = 0 B eeveveenervennes

(1) efpb @ &%

(3) 36 (4) wub

145. The metals having high reactivity from the following.
"K, Na, Mg, Zn, Cu, Au"

308 55606’ ek FAPROB HOD cvreeereeenanns

"K, Na, Mg, Zn, Cu, Au"

(1) Zn, Cu, Au (2) Cu, Zn, Mg
(3) K, Na, Mg (4) Na, Mg, Zn

146. The ore of mercuryis................

(1) Galena (2) Cinnebar
(3) Gypsum (4) Zincite
RERRIO G, GBS wevevensnnsasens

(1) b (@) 9o
(3) &8y (4) 2685

Y-2 [30]
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148.

149,

150.

Y-2

Q. Booklet A

Code

The first scientist who identified the relationship between electricity and

magnetismis................

(1) Oersted (2) Ampere

(3) Lenz (4 Ohm

DsogB, esciodm oo © S Sowerd n:_qc}a:sm e R———
(1) esabaé (2) eodbawb

(3) Bk ' (4 £5

An induction stove works on this principle.
(1) Electric induction (2) Induced EMF

(3) Electromagnetic induction (4) Magnetic induction

FOLES £ &+ Aocioo Dots esprtisd $0Es08.

(1) DD Bes (2) @65 EMF
(3) b esctoeon Bies (4)  eocn e

If a wire of length 1 m and radius 0.1 mm has a resistance of 50Q, then the

resistivity of the material (in Q — m)is..........

e BX e, Terge, 6% oo S 1 m, 0.1 mm, 500 escoss es B oy, D655
Q —mod.......

(1) 0.001237 (2) 0.005171

(3) 0.001571 (40 0.002137

The resistance of the bulb on which 60 W and 120 V is marked (in Ohm) is......

60W, 120V &2 ooty w26, 5SS 28%0 (£5:06°) wernnrrrureennen.
(1) 120 (2) 240
(3) 200 (4) 220
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